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square n = n * n
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- square = ...
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map square [1,2,3,4,5] = [1,4,9,16,25]
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square = ¥n -> n * n

map (¥n -> n * n) [1, 2, 3, 4, 5]
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add x y = x +y

add = ¥xy > x + vy

(¥x vy >x+y) 23 = (¥%y >2 +vy) 3= 2+ 3 =5
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add2 (x, y) = x + vy
add2 = ¥(x, y) > x +y
map (¥(x, y) ->x +y) [(1,11),(2,12),(3,13)]

= [(1+11), (2+12), (3+13)]
= [12,14,16]
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(.) :: (b ->c¢c) -=> (a -> b) -> (a -> c)
MBI £.g

- 2DDEBZTERLTHLOLERZES

- (£.9) x = £ (g x)
- f.g=¥x -> £ (g x)

numberOfLines :: String -> Int
numberOfLines cs = length $ lines cs

numberOflLines :: String -> Int
numberOfLines = length . lines

- ($) EDELY
- (8) :: (a ->b) ->a ->b
-f $x=f x
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sortLines :: String -> String
sortlLines cs = unlines $ sort $ lines cs

- BB EMTECE

sortLines = unlines . (sort . lines)

- () ITBEHEE

sortlines = unlines . sort . lines

- fth D151

tac :: String -> String
tac cs = unlines $ reverse $ reverse $ reverse $ lines cs

tac = unlines . reverse . reverse . reverse . lines
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- addThree i j k = i + j + k
- laddThree 5)lXaddThreellmxfD 5|8 %5 A =585 & K RE
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addThree i j k =1 + jJ + k

addThree 5

¥9k ->5+ 3j + k

(addThree 5) 6 = ¥k -> 5 + 6 + k

((addThree 5) 6) 7 =5+ 6 + 7
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map (+ 7) [1,2,3,4,5]
= [8,9,10,11,12]

filter (/= '¥r') "aaa¥r¥nbbb¥r¥nccc¥r¥nddd¥r¥neee¥r¥n"
= "aaa¥nbbb¥nccc¥nddd¥neee¥n"




RAR D )—-REA)L o

- Biw(HhT3) =) A . B
- WME(ATOHM L5 (TO—) DEH
A= 1B \ /
c IRAR D) —RB2A)L C
- BBARETEEL, EEEESBLAL
fgrep.hs

import System.Environment
import Data.List

main = do args <- getArgs
cs <- getContents
putStr $ fgrep (head args) cs

fgrep :: String -> String -> String
fgrep pattern cs = unlines $ filter match $ lines cs
where
match :: String -> Bool
match line = any prefixp $ tails line

prefixp :: String -> Bool
prefixp line = pattern "isPrefixOf  line
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fgrep :: String -> String -> String
fgrep pattern cs = unlines $ filter match $ lines cs
where

match :: String -> Bool
match line = any prefixp $ tails line

prefixp :: String -> Bool
prefixp line = pattern " isPrefixOf  1line

- wheref]Z{F17%50) ‘

fgrep :: String -> String -> String
fgrep pattern cs = unlines $ filter (match pattern) $ lines cs

match :: String -> String -> Bool
match pattern line = any (prefixp pattern) $ tails line

prefixp :: String -> String -> Bool
prefixp pattern line = pattern "isPrefixOf  line
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fgrep :: String -> String -> String
fgrep pattern cs = unlines $ filter (match pattern) $ lines cs

o

fgrep pattern = unlines . filter (match pattern) . lines

prefixp :: String -> String -> Bool
prefixp pattern line = pattern " isPrefixOf  line

. 2

prefixp pattern = (pattern " isPrefixOf’)

match :: String -> String -> Bool
match pattern line = any (prefixp pattern) $ tails line

. 2

any (prefixp pattern) . tails

R 2

match pattern = any (pattern "isPrefixOf') . tails

match pattern
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fgrep.hs

import System.Environment
import Data.List
main = do args <- getArgs

cs <- getContents

putStr $ fgrep (head args) cs

String -> String -> String
unlines $ filter match

fgrep
fgrep pattern cs =
where
match
match line =

String -> Bool
any prefixp $ tails line

prefixp String -> Bool

prefixp line = pattern "isPrefixOf’ line

$ lines cs

fgrep.hs
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import System.Environment
import Data.List

main = do args <- getArgs

cs <- getContents

putStr $ fgrep (head args) cs
fgrep String -> String -> String

fgrep pattern = unlines

-> String -> Bool
any (pattern “isPrefixOf’)

match String
match pattern =

filter (match pattern)

tails

lines
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match pattern = any (pattern "isPrefixOf') . tails

¢

match pattern = any (isPrefixOf pattern) . tails

¢

match pattern ((any . isPrefixOf) pattern) . tails

¢

match pattern = (. tails) $ (any . isPrefixOf) pattern

¢

match = (. tails) . any . isPrefixOf
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- fgrepZEERA LI —IZEESTELLESLY.

fgrep :: String -> String -> String
fgrep pattern cs = unlines $ filter (match pattern) $ lines cs

-

fgrep pattern = unlines . filter (match pattern) . lines

[
[
fgrep2.hs ‘

import System.Environment
import Data.List

main = do args <- getArgs
cs <- getContents
putStr $ fgrep (head args) cs

fgrep :: String -> String -> String
fgrep =
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EBRINDIENZL.
£l =v
f (x:xs) = x op f xs

- ZYRMDEIXIvITHY, Z5TLEWMGRIZIE, EEOERIxIERYDERIZE
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sum [] = O

sum (x:xs) = X + sum XxXs
prod [] =1

prod (x:xs) = x * prod xs
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foldr::(a -> b -> b) -> b -> [a] ->b
foldr £ v [] = vV
foldr £ v (x:xs) = £ x (foldr £ v xs)

- BAHIAABEH foldrEFEOERAMIET AR AEERICE
ERTENTES.

sum = foldr (+) O
prod = foldr (*) 1

- 512, lengthD KOG BLEEIFECTIRT H_ETEoldr TRI CEMNTES.

length::[a] -> Int
length [] =0
length (x:xs) = 1 + length xs

e 2

length = foldr (¥x n -> 1 + n) O
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append.hs

(++) : : [a] -> [a] -> [a]
(++) []1 ys = ys
(++) (x:xs) ys = x : ((++) xs ys)

append xs ys = foldr ....

- map#ZF foldrZ{EoTIRLAESLY.

map2 .hs

map::(a -> b) -> [a] -> [b]

map £ [] = []

map £ (x:xs) = (f x) : (map £ =xs)
map2 £ = foldr ....

- YA RIS breverseZfoldrF{F o> TERLGSILY.

rev.hs

reverse: :[a] -> [a]
reverse [] = []
reverse (x:xXs) = reverse xs ++ [x]

rev = foldr ....
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foldl::(a -> b -> a) -> a -> [b] ->a
foldl £ v [] = Wv
foldl £ v (x:xs) = foldl (f v x) xs

- foldr(dAFESDEEFICEITALDTH =M, RALLIIERSICEAT
HEHIAHEEfoldlEHb.
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sum = foldl (+) O
prod = foldl (*) 1

- EBIZ, reverselIDWTERDEIIZEZDHENTES.

reverse::[a] -> [a]
reverse xs = reverse2 [] xs

reverse2::[a] -> [a] -> [a]
reverse2 ys [] = ys
reverse2 ys (x:xs) = reverse2 (x:ys) Xxs

reverse = foldl (¥xs x -> x:xs) []
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b2d.hs

import System.Environment

main = do args <- getArgs
print $ b2d $ head args

bit::
bit '0’
bit '

-> Int
0
1
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b2d::String -> Int
b2d = ...

% ./b2d 1010

12

% ./b2d 11111100000
2016

%




